Division par 10" (A)

Trouvez chaque quotient.

8,0299 + 10" = 5,6661 <+ 101 =
6,3+ 10" = 9,8096 =+ 10 =
31+10"= 3,3157 + 101 =
9,044 + 10 = 1,1 +10'=
1,86 + 10" = 1,9261 + 10 =
32+10"= 9,76 + 10 =
9,895 + 10 = 1,1 +10'=
8,89 + 10" = 4,58 + 10 =
3,7845 + 10t = 3,3031 + 101 =
9,5+ 10" = 6,526 +~ 10 =
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Division par 10* (A) Solutions

Trouvez chaque quotient.

8,0299 + 10* = 0,80299 5,6661 + 10 = 0,56661
6,3 +10'=0,63 9,8096 = 10" = 0,98096
3,1+10'=0,31 3,3157 + 10* = 0,33157
9,044 + 10' = 0,9044 1,1 +10'=0,11

1,86 - 10' = 0,186 1,9261 + 10* = 0,19261
3,2+ 10'=0,32 9,76 + 101 = 0,976
9,895 + 10" = 0,9895 1,1 +10'=0,11

8,89 =~ 10" = 0,889 4,58 + 10 = 0,458
3,7845 + 10' = 0,37845 3,3031 + 10 =0,33031
9,5+ 10'=0,95 6,526 +~ 10* = 0,6526
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